ometrical Ratios :

=iz Y i

six trigonometrical ratios relating to the
 of a right-angled triangle (this has already

by students in Class IX).

an acute angle of a right-angled triangle : A
: Perpendicul BC %
B s e T i A=
Hypotenuse AC
‘cosine (cos) = il A
s " Hypotenuse B L — A
Perpendicular BC
= ‘Base - tan A =

élit icot) = e A
v ~  Perpendicular Ti oL S BC . :

%3

Hypotenuse

',= TR TP e R i = TR
Base sec A =

~ Hypotenuse

= Perpendicular T ©OSC A =

: 1 e
AR B O e T e
cot A S
2. Quotient relations : o
Since sin A PEIpendicular & [ d con A R
hypotenuse 3 hypotenuse
, Sa W perpendicuia:r o hypotenuse
cos A hypotenuse base
erpendicular
= e = tan A
base
Similarl D = t A
imilarly, e co .
sin A cos A i
Hence, tan A = ——— and cot A = ——— —
cos A sin A
LR
3. Sguare relations :
In right-angled triangle ABC, with angle B = 90°; T e
BC AB : e

smA=-R- andcosA=X(—:




i cosec A.:ﬂ‘“wat A=

=2

sec A +tan A

; sin A cos A
Alcos* A=2sin2 A 1
tan A)2 + (1 + tan A)? = 2 sec?A
c* A — cosec? A = cot* A + cot? A
A (1 -sin A) (sec A + tan A) = 1
s 5 1 1 .
é‘i(;‘-“-’. COSA_)(CO:WA COZA)—I G e 1+sin A =2$‘°c%’A-i'f§}:
+ cosec? A = sec? A . cosec? A

1
14+ cos A

cosec A cosec A
cosec A —1 cosec A +1

= 2 sec?

—sin” A = tan? A . sin? A
cos? A = cos? A . cot? A AT eohin

sec A sec A

1+cosA.
1=cads AT

A (;_‘ot’2 A
osgch




( cos A )2

~ \l+sinA
sinZ A —sin’ B
coszA.coszB

[2017]

cot A —cosec A) (1 +tan A +sec A)=2

- sinA+cosA ' sinA-
e
e sin A+cosA  sinA-
* SinA —cos Ak sin
cot A+cosecA-1
46. : =
cot A—cosec A+l ~
1+sinA 231 g
47- P A o 2
" cosecA-cotA
cbs Bifoor 951 B & &
48. e = ey )

sin A
tan A ¥ 1-cot A

= sin A + cos A

[2003]

cos> A — sin® A

=2
cos A —sin A

cot A
1—tan A

2 2
1 1
tan A —
A) +[ cosA)
Lesin® A
1-sin® A

=sec A cosec A +1

n2 A +cos*A=1+ sin® A ¢

(ix)

If x cos A + y sin A = m and
x sin A — y cos A = n, then pro
2+ =m+n?

If m = a sec A+ b tan A and
n =atan A + b sec A, then prov
m? —nt=a - b?

If x = rsinAcosB,y=rsxfn‘
z = r cos A, then prove that :

e

Ifsin A+cosA=m and



